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GSH=1.08 CFM (T mix-T )  
GLH=0.68 CFM (w mix-w)  

GTH=GSH+GLH  

GHF=
9,5

9,569)5
  

 ��eY ���� U�
� V/� �� _��6
 ��#� �� ���
�+ a�
� ��b1


��
���  U,�  

ERSH=RSH+ BF x OASH 
ERLH=RLH+ BF x OALH  

ERTH=ERSH+ERLH  

ESHF=
:4,5

:4,56:4+5
  

2-5- ������ U�
� #����Y– �����G U�
�– +�
������ I�67�  

67� � (�H�G �.
�)���G (�
)� "��3� �� E�����9 Z
; � E����G #����Y U��7 I
6/� ��
A
 ��� #����Y 4��
 0A��� �.
�) +�
������ I� �

.#�%;� (����6
 0%;��9�7�����9  

  

  



 

 

� 2-7- (;
  

1-� �%Y�G ���C _�$�� U,�� ��� ������ U�
� +� �� "�]%�� 0�67 ���� #�&�� �
62 �� ��� H� �
� � (�50 F  ��
62 ��
� (�
)�� ��� �

95F , 50%   U�
� �hG ���� \��^ �G� (��0,1 j�
��� K$�#�� U�
� ��� ����� ��
� (�
)� #f�� #�L #7��  

 �.�–:     #%Y� �3$ a�b
� K$�#��-  4��40% % �
50          d- H� �%3�40%                �- H� �%���50%   

: �������  

;. % =
�<=> − �?<�@

��A − �?<�@

=
�<=> − 50

95 − 50
= 0.1         �<=> = 54.5     

�� +��%���&��� ��
3$ H� ����� ��
� ���� �� (�
)� ��
% � ��
%�� (�
)� � ��� ��	� ����� ��
� H� ����� �� �� �O

 �� ��� (7��

W1=125 grain /Lb  

 +��%���&��� ���
3$ H� (.�> 4�� �� �� (�
)� ��
% � ��
%�� �O��, ���� � 0�67 ���� ��	� �O��, ��
� H� ����� �� �� �O

 ��

  ��� (7����W2=61 grain/Lb 

�1 − �2

�1
=

125 − 61

125
= 51. % 

2- ���� E��MY� ����15000  H� (2�� �� �
� \	&� �%�10  �� �O��20 j (�� PHl ��%��� �m�$� �A7 P�#� �� �O��  

�.�- ���� V/� H� I�b
��) (7�4:                                 (�%�- ���� V/� H� I�b
��) ��OH���213              (�%�  

 d- ���� V/� H� I�b
��) H���71493�                             (�%�-��;&� �A7 �� �� ��  (��  

: �������  

 �� @��/� �

�17  �.� ���MG  

3-1000  +�, ���� �� "H�
 ��
� �8�C� �� \	&� �
Y103  �6;$ (�
)� � (��A$��Y10%  ��4000  \	&� �
Y �� �%�G�� ��
� �8�C� ��

 +�, :�6> ����78  �6;$ (�
)� � (��A$��Y �O��50% 7. �
��� �����
� "�]%�� ���� � B
1�� �]�#&� �� "�]%�� �� ����� ��
� Q���

j (�� P�#� H���
�  

�.�- +�, :�6> ����83  4�� �6;$ (�
)� � (��A$��Y �O��40%�
45%  

:- +�, :�6> ����83  4�� �6;$ (�
)� � (��A$��Y �O��35%�
40%  

d- +�, :�6> ����84,25  4�� �6;$ (�
)� � (��A$��Y �O��35%�
40%  

�.�- +�, :�6> ����25,84 Y �O�� 4�� �6;$ (�
)� � (��A$��40%�
45%  

: �������  

 _�#O @��/�2-2 : ���� (�� �� �� B
1�� ��
� ���� ��
%��  BD%,� #����Y ��  

��DE =
��DF�F + ��DG�G

�F + �G

=
103 I 1000 + 78 I4000

1000 + 4000
= 83% 

  


